
ЕГЭ Английский язык
Раздел «Грамматика и лексика» Часть 2

Задание G2_10

Прочитайте приведённый ниже текст. Образуйте от слов, напечатанных заглавными буквами в
конце строк, обозначенных номерами 26–31, однокоренные слова так, чтобы они грамматически
и лексически соответствовали содержанию текста. Заполните пропуски полученными словами.
Каждый пропуск соответствует отдельному заданию из группы 26–31.

 Chemistry or no chemistry
 

26

I  was  planning  a  career  in  biology  but  was  not  looking  forward  to  taking
chemistry  in  my  first  year  at  Carleton  University  in  Ottawa.  However,  the
professor of chemistry was a famous _________________. SCIENCE

27s He made  the  course interesting  with  his  many  small  _________________
explosions and crazy quizzes.

CHEMISTRY

28s
Once, he posed the question: “What in the world isn't chemistry?” and offered
a prize to the student who answered _________________. CORRECT

29s A couple of weeks passed. _________________, he announced in class that
the contest was over. A student had gone to his office to ask if she could try
her hand at the question. “What in the world isn't chemistry?” she asked.

FINAL

30s “My _________________ with my last boyfriend – that wasn't chemistry.” RELATION

31s By default, she became the _________________. WIN




